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Which of the following is not a

correct example of fortified food

as per the FSSAI definition of

food fortification ?

(1) Iodized salt

(2) Milk with added vitamin D

(3) Edible oils with added
vitamin D

(4) Mixed grain atta with added
wheat bran

Food Safety and Standards
(Organic Foods) Regulation was
notified in which year ?

(1) 2016

(2) 2019

(3) 2017

(4) 2018

Liquefaction of starch to dextrin
is carried out by which enzyme ?
(1) oa-amylase

(2) Cellulase

(8) Pectinase

(4) Protease

What are the key stages of new

product development as per the

shorter developmental timeline ?

(1) Idea genesis, evaluation, food
product development, pricing

(2) Idea genesis and evaluation,
early food development,
introduction in  market,
evaluation and advance
development.

(3) Idea generation, food product
development, market trial,
advance development.

(4) Market research, food
product development, market
trial, advance development.
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Which of the following enhances
the absorption of iron in body ?
(1) Calcium

(2) Tannins

(3) Ascorbic acid

(4) Phytates

When a purine or pyrimidine is
linked to a phosphorylated sugar
residue, the resulting compound
1s called as :

(1) Nucleoside

(2) Nucleotide

(3) Ribonucleic acid

(4) Deoxyribonucleic acid

What is the end product of purine
metabolism from food ?

(1) Uric acid

(2) Uric oxalates
(38) Cystine

(4) Pyridoxine

Cyanocobalamin is the chemical
name of which vitamin ?

(1) Vitamin B,,
(2) Vitamin D
(3) Vitamin C
(4) Vitamin E

Adipose tissue produces which of
the following hormone that
regulates feeding and energy
expenditure to maintain nearly
constant body weight ?

(1) Vitamin D

(2) Leptin

(3) Glucagon

(4) Growth hormone
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Which of the following hormone
is not steroid ?

(1) Adrenocortical hormone

(2) Progesterone

(3) Insulin

(4) Oestrogen

What is the nature of Proteins ?
(1) Amphoteric

(2) Acadic

(3) Alkaline

(4) Crystalline

The arachidonic acid has how
many double bonds in its
structure ?

@1 5

@ 2

3) 3

4 4

Glycerol obtained from the
breakdown of fat is converted to
(1) Dihydroxyacetone phosphate
(2) Ribose 3 phosphate

(3) 1, 3 Bisphosglycerate

(4) 3-Phosphoglycerate

The formation of fatty acyl-Co A
from Fatty acid occur in which
part of the cell ?

(1) Nucleus

(2) Mitochondria

(3) Cytoplasm

(4) Ribosomes

How many ATPs are generated in
complete oxidation of palmitic
acid through beta oxidation and
citric acid cycle ?

(1) 28

(2) 80

(3) 108

4) 100
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16. Which of the following has a

17.

18.

19.

20.

bhigher melting point, boiling
point, and heat of vaporization
than most other common solvents ?
(1) Methanol

(2) Ethanol

(8) Acetone

(49 Water

Which of the following statements
18 not true regarding the

pyruvate formed by glycolysis ?
(1) Reduction to lactic acid

(2) Alcohol fermentation

(3) Catabolism of pyruvic acid to
CO, and water through citric
acid cycle.
Conversion to
coenzyme A

4

succinyl

How many molecules of ATPs
must be invested in preparatory
phase of glycolysis ?

(1) 2

2 4

(3) 6

4 8

The mixture of dextrose and
levulose produced after
hydrolysis of sucrose is called :

(1) Caramel

(2) Invert sugar

(3) High density fructose sugar
(4) Glucose syrup

Which of the following vitamin is
essential for decarboxylation
reaction in glycolysis cycle ?

(1) Thiamine

(2) Riboflavin

(3) Folic acid

(4) Pantothenic acid
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What is the term used to express
the degree of acidity or alkalinity
of a food or a given solution ?

(1) Buffer

(2) Isoelectric point

(3) Hydrogen ion concentration

(pH)
(4) Redox Potential

Which of the following is a condition
of increased accumulation of
extracellular flud ?

(1) Oedema

(2) Dehydration

(3) Water equilibrium

(4) Diuresis

What is the purpose of ashing in
estimation of iron in food sample ?
(1) Destroy the organic matter
(2) Convert iron from ferric form
to ferrous form

Isolation of iron from food
sample

Assessment of availability of
iron

@)
@

Which of the following is used to
neutralize free fatty acid for the
determination of acid value in fat ?
(1) Cupric sulphate

(2) Alpha amyloglucosidase

(3) Potassium hydroxide

(4) Ammonium hydroxide

The first step in estimation of

protein using Kjeldahl method is :

(1) Digestion of food sample

(2) Separation of amino acid

(8) Precipitation of protein by
perchloric acid

(4) Distillation process
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26. Which of the following methods
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offers a high degree of analytical
selectivity in addition to great
speed of separation ?

(1) Spectrophotometry

(2) Paper chromatography

(3) Titramety

(4) High pressure hquid
chromatography
Which of the following laws

states that the optical density of
a solution is directly proportional
to the concentration of the solute ?

(1) Stefan’s law
(2) Beer'slaw

(3) Pascal’ law
(4) Bernoulli’s law

In protein estimation, which of
the following is converted to
deeply coloured complex and then
amino acids are evaluated
densitometrically ?

(1) Hydroxyproline
(2) Hydrochlorine
(3) Ninhydrin

(4) Bromothymol

To determine oxalic acid in food
products, what is oxalic acid
precipitated to and then that is
titrated against standard
potassium permanganate ?

(1) Potassium oxalate
(2) Ammonium oxalate
(3) Calcium oxalate
(4) Cupric oxalate
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Which of the following (in
milligrams) is required to
neutralize the free fatty acids
present in one gram of fat is
known as acid value ?

(1) Cupric sulphate

(2) Alpha amyloglucosidase

(3) Potassium hydroxide

(49 Ammonium hydroxide

The protein content determined
by Kjeldahl method is by the
estimation of :

(1) Protein

(2) Nitrogen

(3) Ammonia

(4 Ammonium sulphate

Urea in the liver is formed from :
(1) Two ammonia mols and one
mole of CO,

(2) Two ammonia mols and two

moles of CO,

(3) One ammonia mols and one
mole of CO,

(4) One ammonia mols and two
moles of CO,

The non-amino residue of amn
amino acid is called :

(1) Keto acad

(2) Lactic acid
(3) Aspartic acid
(4) Citric acid

Dinitro phenyl hydrazine method
used to estimate which of the
following in foodstuffs ?

(1) Vitamin B

(2) Ascorbic acid

(3) Lipid value

(4) Antioxidant content
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35. Which of the following is not a
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function of muscle ?

(1) Heat production

(2) Maintaining body posture
(3) Stability of joints

(4) Connect bone to bone

Which of the following muscles
are controlled voluntarily ?

(1) Skeletal muscles
(2) Cardiac muscles
(3) Smooth muscles
(4) (2) and (3) both

Which of the following hormones
stimulate the production of
pancreatic juice and bicarbonate ?

(1) Insulin and glucagon

(2) Cholecystokinin and secretin
(3) Gastrin and insulin

(4) Angiotensin and epinephrine

Which of the following regulates
the body temperature ?

(1) Spinal cord
(2) Hypothalamus
(3) Thyroid gland
(4) Skin

Meaning of diuresis is :

(1) Production of urine in excess
to normal level

(2) Reduction of urine production

(3) Increase in urea levels of blood

(4) Decrease in urea level of blood
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Which of the following type of
joint is present in hip joint ?

(1) Ball and socket joint

(2) Hinge joint

(3) Plane joint

(4) Pivot joint

Which of the following enzyme
converts soluble fibrinogen into
insoluble fibrin ?

(1) Thrombin

(2) Prothrombinase

(3) Chymotrysinogen

(4) Thromboplastin

Which of the following blood
constituents protects body from
pathogens by phagocytosis ?

(1) Red blood corpuscles

(2) White blood cells

(3) Platelets

(4) Plasma

Life Span of Red blood cells is :
(1) 100 days

(2) 120 days

(3) 80 days

(4) 140 days

Which of the following hormone
triggers ovulation ?

(1) Luteinizing hormone

(2) Prolactin

(3) Thyroid stimulating hormone
(4) Oxytocin

Action of parathormone in the

human body :

(1) Decreases blood sodium level

(2) Increases blood sodium level

(3) Decreases blood calcium level

(4) Increases blood calcium level
09
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The cerebrospinal fluid provides :
(1) Mechanical protection

(2) Immunity

(3) Chemical protection

(4) Circulation of nutrients

Which of the following is not a
part of neuron ?

(1) A cell body

(2) Dendrites

(3) Axon

(4) Glycalytic fibres

The maximum reabsorption of
water takes place in which of the
following part of nephron ?

(1) Proximal convoluted tubule
(2) Loop of Henle

(3) Distal convoluted tubule
(4) Collecting duct

Which of the following does not
regulate Glomerular filtration
rate ?

(1) Renal auto regulation of GFR
(2) Neural regulation of GFR

(3) Hormonal regulation of GFR
(49) Chemical regulation of ions

Which part of the nephron does
not take part in the reabsorption
of water and nutrients ?

(1) Bowman’s capsule

(2) Proximal convoluted tubule
(3) Loop of Henle

(4) Dastal convoluted tubule
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One molecule of haemoglobin is
capable of binding how many O,
molecule(s) ?

(1) One

2) Two

(3) Three

(4) Four

Which of the following hormone
regulates water reabsorption in
nephron ?

(1) Antidiuretic hormone
(2) Parathyroid hormone
(3) Thyroxin

(4) TSH

Which of the following is not a
function of stomach ?

(1) Secretion of gastric juice

(2) Secretion of gastrin into blood

(3) Mixing saliva, food and
gastric juice

(4) Digestion of sucrose

Which of the following is not a
part of pancreatic juice ?

(1) Trypsin

(2) Lipase

(3) Chymotrypsin

(4) Lactase

Which of the following play an
important role in emulsification
of large lipid globules ?

(1) Gastric juice

(2) Bile salts

(3) Bile Pigments

(4) Both (2) and (3)
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60.

the cells to the extracellular fluid
and potassium from extracellular
fluid to cells happen through
which process ?

(1) Primary active transport

(2) Simple diffusion

' (3) Osmosis

(4) Trance cytosis

Which of the following
membranes is responsible for the
protection of the heart ?

(1) Epicardium

(2) Endocardium

(3) Myocardium

(4) Pericardium

Which of the following is involved
in synthesis of protein in
eukaryotic cell ?

(1) Lysosomes

(2) Ribosomes

(3) Cell membrane

(4) Mitochondria

Solution that has the same
osmolality as plasma are said to be :
(1) Hypertonic

(2) Hypotonic

(3) Isotonic

(4) Equvitonic

Which of the following is not true

for Anti diuretic hormone ?

It 1S produced
hypothalamus.

(2) It controls the amount of
water reabsorbed.

(3B) It is stored in posterior
pituitary.

4 It maintains
temperature.

by

the body
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62.

64.

65.

with blood, blood forming tissues
and its disorders is called

(1) Hemopoiesis
(2) Cardiovascular system
(3) Plasmology
(4) Hematology

Which of the following is not a

function of the blood circulation ?

(1) Supply nutrients to the
tissues of various organ.

Remove waste products of
tissue metabolism

Deliver antibodies to affected
areas of the body

Synthesis of vitamin D3

)
3
4

Which of the following organs
only receives oxygenated blood ?
(1) Spleen

(2) Kidneys

(8) Liver

(4) Lungs

Which of the following blood
vessel do not have three layers or
tunica ?

(1) Aorta

(2) Arteriole

(8) Capillary

(4) Pulmonary vein

Aspergillus flavus can grow in :
(1) Legumes

(2) Ground nuts

(3) Maize

(4) All of the above
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66. Botulism is caused by consuming

67.

68.

69.

70.

which of the following food ?
(1) Raw cabbage

(2) Canned meat

(3) Honey

(4) Raw eggs

Which of the following acids will
have a higher bacteriostatic effect
at a given pH ?

(1) Maleic acid

(2) Citric acid

(3) Tartaric acid

(4) Acetic acid

The time temperature
combination for HTST
pasteurization of 71.1 °C for 15
sec is selected on the basis of
which microorganism

(1) Coxiella burnetii

(2) C. botulinum

(3) B. subtilis

(4) E. coli

Which of the following micro-
organism is mainly responsible
for bread spoilage ?

(1) Bacteria

(2) Yeast

(3) Mold

(4) Protozoa

The Anaerobic decomposition of
protein with the production of
foul smelling compounds is
known as :

(1) Souring

(2) Proteolysis

(3) Putrefaction

(4) None of the above



71.

72.

73.

74.

. Fefifea § 3 5w gl 4 ==

Sttt 6 gig % e Aiahs wRE
E?

(1) des.

@) Toft g

3) ATadlirr-fger g

(4) ST et

a g FefRas & @ g dvs @
% Wifos wd vanie o oited
Hh G Sftdl 1 TR BT R ?

(1) FEiEEse

2 faafim

(3) WM

4) @

wE. e L. et am i

(1) oS wmfafe ek e aée |

(2) &e wferfie et sheter wise

(3) & R BeRwe HeEE
gise

(4) 3w 4 4 Hig 181

Sy gig 9% % frw T ¥
gEle wga & 3 sifted | W
iR g ¢

(1) <R

(2) dT=w

(3) TR Jaeen

4) g

faetm it ® 2
(1) Sfmg

2) =HR

(8) S

(4) SRS

e — T — T —— —— ————— —— i 4o}, bt 5 S F——

16

71.

72.

73.

74.

75.

What are the intrinsic factors for
the bacterial growth ?

(1) pH

(2) Moisture

(3) Oxidation-reduction potential
(4) All of the above

Heat kills microorganisms by
changing the physical and
chemical properties of which of
the following nutrients ?

(1) Carbohydrates

(2) Vitamins

(3) Proteins

(4) Lipids

The expanded form of HACCP is :

(1) Hazard Analysis Critique
Control Point

(2) Hazard Analysis Critical
Control Point

(3) Hazard Association Critical
Casual Point

(4) None of the above

During which phase of the

bacterial growth do micro-
organisms grow and divide at the
maximum rate ?

(1) Lag phase

(2) Logphase

(3) Stationary phase
(4) Death phase

Which of the following micro-
organism have high vitamin
content ?

(1) Bacteria

(2) Yeast

(3) Algae

(4) Protozoa
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76.

717.

78.

79.

80.

The microbes that can grow at
very low temperature are known
as:

(1) Thermophilic bacteria
(2) Psychrophilic bacteria
(3) Mesophilic bacteria
(4) Halophilic bacteria

Which of the following micro-
organism contaminate the high
sugared foods ?

(1) Leuconostoc
(2) E. coli

(3) Botrytis

(4) Alternaria

Curing is used in preservation of
which of the following food ?

(1) Cereals
(2) Pulses
(3) Milk
(4) Meat

Which of the following enzyme is
used as a ‘monitor in
pasteurization of milk ?

(1) Proteinase

(2) Lipases

(3) Alkaline phosphatase
(4) Glucophosphatase

Which of the
probiotic bacteria ?

(1) Lactobacillus caseia
(2) E. coli

(3) Pseudomonas

(4) Staphylococcus aureus

following are
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81.

82.

83.

84.

86.

Which of the following is not a
cause of food spoilage ?

(1) Growth of micro-organism
(2) Insects

(38) Action of enzymes

(4) Irradiation

In food spoilage what does TDT
mean ?

(1) Total Death Time

(2) Total Durability Time

(3) Tension Durability Time

(4) Tested Death Time

Establishing CCP is followed in
which principle of HACCP ?

(1) Principle 7

(2) Principle 5

(3) Principle 2

(4) Principle 3

What should be the -chlorine
concentration of drinking water
in food processing plant ?

(1) 0.2ppm

(2) 0.5 ppm

3) 1.0 ppm

(4) 0.4ppm

. In microbiology sweating term is

used for :

(1) Reduce moisture

(2) Remove moisture

(3) Equalization of moisture to a
desired level

(4) None of the above

Main cause for Cholera is :

(1) Poverty and poor sanitation
(2) Mosquitoes

(@) Toxin produced by pesticides
(4) Imbalanced diet
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88.

89.

90.

91.

Nitrite curing inhibits the growth
of :

(1) Streptococcus

(2) Clostridium

(3) Both (1) and (2)

(4) Rhizobium

The principal micro-organism for
yogurt is

(1) Streptococcus thermophiles
(2) Leuconostoc citrovorum

(3) Lactobacillus acidophilus

(4) Streptococcus lactis

Which of the following is used to
make specific type of wine ?

(1) Saccharomyces cerevisiae

(2) Lactobacillus

(3) Penicillium roqueforti

(4) Acetobacter

The bacteria which can survive
the heat treatment such as
pasteurization are known as :

(1) Mesophilic bacteria

(2) Thermophilic bacteria
(3) Thermoduric bacteria
(4) Psychrophilic bacteria

Which of the following are short
gram-negative rods non-spore
forming bacteria which ferment
lactose with gas formation ?

(1) Coliform

(2) Lactobacillus
(3) Acetobacter
(4) Streptococcus
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94.

95.

About  heat resistance of

vegetative cells of bacteria which

of the following statements is

correct ?

(1) Cocci usually are
resistant than rods.

(2) Bactria that form capsules
are more difficult to kill.

(3) Cells high in lipid content are
hard to kill.

(4) All of the above

more

For preservation, anaerobic
condition in sealed and packaged
foods may be achieved by
replacing air by :

(1) CO,

(2) NO,

(3) Aninert gas
(4) All of the above

Micro-organisms which can grow
well either aerobically or
anaerobically are known as :

(1) Aerobic

(2) Anaerobic
(8) Facultative
(4) Halophilic

A non-selective menu i1s also
referred to as :

(1) House menu

(2) Single use menu
(3) Static menu

(4) Cycle menu
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96. The document that lists all menu

v 97,

98.

99.

items that are going tc be
prepared for a given date is called
a:

(1) Purchase order
(2) Master schedule
(3) Receiving sheet
(4) Production sheet

Which of the following is not
among a design function of a food
service facility ?

(1) Menu development
(2) Service considerations
(3) Pricing considerations

(4) Personnel considerations

Which of the following
equipments in food service
institutions utilizes instant and
radiant heat for rapid cooking of
foods ?

(1) Deck ovens

(2) Griller

(3) Broilers

(4) Steamers

Which of the following
considerations is not taken care
of in deciding the make and
model of equipment in food
service facility ?

(1) Compatibility with other
equipments

(2) Ease of installation

3) Ease of repair and
maintenance

(4) Transport of the equipment
o
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100. A compilation of sales and cost

101.

102.

{ 103.

22

information for a specific period
of time is known as :

(1) Operating budget
(2) Trial balance sheet
(3) Profit-and-Loss report

(4) Statement of
earnings

retained

The time. sequencing of events
required by the production
subsystem to produce a meal in
food service is known as :

(1) Production worksheet

(2) Production forecasting

(3) Production regression

(4) Production planning

In which of the following type of
food service system menu items
are prepared in kitchen on the
premises where the meals are
served and held for a short time
until serving ?

(1) Ready prepared

(2) Conventional

(3) Commissary

(4) Assembly

Which of the following is not used
as a method for measuring food
acceptability ?

(1) Plate waste studies

(2) Self-reported consumption
(3) Frequency of acceptance
(4) Food cost
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105.

107.

108.

109.

Which is the main consideration
around which the meal is
planned ?

(1) Equipment facility

(2) Layout

(3) Entrée

(4) Portion size

What is the procedure concerned
with acquisition of goods in a food
service institution ?

(1) Selling of food items

(2) Purchasing of food items

(3) Stock entry of food items

(4) Removal of waste food items

Food, beverage and labour can be
classified as what type of cost ?
(1) Fixed

(2) Variable

(3) Controllable

(4) Uncontrollable

Brunch is a hybrid of :

(1) Lunch and Snacks

(2) Lunch and Dinner

(3) Breakfast and Lunch
(4) Breakfast and Dinner

Food service used for in-flight
meal is :

(1) Tray service

(2) Self service

(3) Table service

(4) Counter service

The major goal of food service
system is :

(1) Serve food to clients

(2) Make profit from food

(3) Save steps and energy

(4) Plan facility
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110.

111.

112,

113.

114.

Three E’s of safety in food service
are engineering, education and :

(1) Empowerment
(2) Employment
(3) Establishment
(4) Enforcement

The size or capacity of an

equipment is determined by ?

(1) Number of employees

(2) Type of menu

@3) Size of the food
establishment

(4) Type of

organization

service

food service

The inventory - method that
assumes that stock has been
rotated during the month is called :

(1) FIFO

(2) LIFO

(3) Latest purchase price

(4) Weighted average purchase price

Which type of food service is
applicable in Cafeteria ?

(1) Tray service

(2) Portable service

(3) Waiter service

(4) Self service

Which phase dissects an
operation’s past performance and
identifies factors that are likely
to influence while budget
planning ?

(1) dJustification

(2) Preparation

(3) Evaluation

(4) Implementation
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i 115. Which of the following is not an

objective of cooking food ?

(1) To enhance flavour

(2) To develop and enhance
texture

(3) To destroy

Y]

orgahisms

To increase the profit margin
Which of the following method is
not used for work improvement
study ?
(1) Operational charts
(2) Micromotion study
(3) Chromo-cycle graph
(4) Fixed motion study

harmful

Which of the following does not
belong to a type of training ?

(1) On the job training

(2) Adult training

(3) Group training

(4) Job Break-even training

Which of the following menu
offers a complete meal at a fixed
price ?

(1) a’la Carte menu

(2) du jour menu

(3) table d’ hote menu

(4) All of the above

Drive-Thru Pick-Up food service
is a type of :

(1) Wait service

(2) Portable meals

(3) Self-service

(4) Tray service



120.

121,

122.

123.

124.

fra wer & wlig 3 sar « fGRE
I & foe smavEs aEn # @l
ST g ?

(1) <A 3 wide

(2) wrEA

(3) R =E Gl

(4) S H TG

o v R aa it s E .
(1) 3G, T, Jed, T=R

(2) 3eae, fewm, $ima, =R

(3) SedveH, TIM, WM, TR

(4) SCUTEH, @, e, TR

Saifegh faee < ue Qi 2
1) Tum s

(2) smers fasem

(3) wrehe favem

(4) IR I

Fr=fafea 4 @ <9 w1 e au=n @t
B HA T TRIEAT AE HLdT  ?

(1) &=

2) v srEm™

(3) FIA W TR

(4) @ i &

%1 ¥d U A U Sl e @
Geftrd ged 1 ol A €t I B
g7

(1) 559, . I

(2) W.uEEl. =

(3) A.wg . I

(4) wE.H.H. ame

et Yo S S ) >y St (] S A Sy e S s s 8

120.

121.

122,

123.

124,

In which type of purchasing the
product is purchased in exact
quantities required for specific
production ?

(1) Blanket purchase agreement
(2) Prime vending

(3) Cost plus purchasing

(4) Just-in-time purchasing

Marketing mix includes four
elements which are :

(1) Product, place, price, promotion
(2) Product, part, price, promotion

(3) Production, place, profit,
promotion

(4) Production, profit, price,
promotion

Demographic segmentation is a
category of :

(1) Marketing cycle

(2) Geographic segmentation

(3) Market segmentation

(4) Product preference

Which of the following tools does
not aid to problem solving ?

(1) Pareto chart

(2) Fish diagram

(3) Control and run charts

(4) Key result area

Which is used to describe values
that relate to the quality of
human experience in the
workplace ?

(1) The QWL Approach

(2) The MSD Approach

(3) The TQM Approach

(4) The SPC Approach
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127.

128.

129.

Which is the most common
method of grading of eggs ?

(1) Weighing

(2) Candling

(3) Curdling

(4) Use of colour disc

What are the  important
constituents of tea contributing to
the flavour of tea beverage ?

(1) Caffeine and tannin

(2) Caffeine, polyphenols and
Essential o1l

Tannin and Polyphenols

Caffeine, tannin, polyphenols
and essential oils

(3)
(4

A substance intentionally added
to food that preserves flavour and
1mproves taste of food is called :
(1) Food additive

(2) Food adulterant

(8) Food contaminant

(4) Food material

Acrolein is formed on heating of
which of the following ?

(1) Fats

(2) Proteins

(3) Carbohydrates

(4) All of the above

What is the name of the
phenomenon of oozing out the
water from starch gel resulting
from increased molecular
association as the starch gel ages ?
(1) Gelatinization

(2) Retrogradation

(3) Syneresis

(4) Curdling
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Which process is used to saturate
the unsaturated fats ?

(1) Halogenation

(2) Hydrogenation

(3) Winterization

(4) Saponification

Heat treatment used in vegetable
processing to inactivate
degradative enzymes is :

(1) Boiling

(2) Blanching

(3) Stewing

(4) Simmering

Which of the following is used in
the manufacture of ice cream for
avoidance of formation of ice
crystals ?

(1) Carboxymethyl cellulose

(2) Hemicellulose

(8) Dextrin

(4) Caramel

The flavour component present in
onions 1is :

(1) Sulphur compounds

(2) Terpenes

(3) Limonin

(4) Olene

. Which of the following is not an

example of fermented products ?
(1) Marmalade

(2) Bread

(3) Vinegar

(4) Wine

What is sodium nitrate used for ?
(1) Anticaking agent

(2) Antioxidant

(3) Curing agent

(4) Colorant
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Which of the following is a
sensory analysis test of three
samples in which two are
identical and one is different ?

(1) Paired test

(2) Simple triangle test

(8) Composite test

(4) Ranking test

Viscosity determination is useful
in the study of which of the
following characteristics of food ?
(1) Consistency of food

(2) Colour of food

(3) Shape of food

(4) Flavour of food

What happens to chlorophyl

when green leafy vegetables are

cooked in presence of acid ?

(1) It is converted to undesirable
pheophytin.

(2) It does not alter.

(3) Green colour
brighter.

(4) None of the above

becomes

The loss of which of the following
nutrient is reduced by parboiling
rice ?

(1) Thiamine

(2) Protein

(3) Pantothenic acid

(4) Ascorbic acid

What are Sequestrates ?
(1) They are added to keep the

food stable.
(2) Form a complex ion with

metals like copper, iron etc
Added for colour

They keep the food oxidized
=

@3)
4)
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following pigment is responsible
for colour appeal of cherries, red
apples, red grapes, pomegranates
ete. ?

(1) Chlorophyll

(2) Carotenoid

(3) Anthoxanthin

(4) Anthocyanin

Which flavouring compounds are
responsible for pungent flavour in
cabbage ?

(1) Terpenes

(2) Sulphur compounds

(3) Limonin

(4) Essential fatty acids

Which of the following are the

effects of germination in pulses ?

(1) Increase in vitamin C content

(2) Increase in availability of
iron

(38) Conversion of phytates to
soluble phosphorus

(4) All of the above

Which of the following are

changes in foods during freezing ?

(1) Growth of ice crystals

(2) Change of the
through aging

(3) Change brought about by
dehydration

(4) All of the above changes

Which of the following are
changes occurring 1in food
products after extrusion cooking ?
(1) Denaturation of protein

(2) Change in texture of food

(3) Maillard reaction

(4) All of the above

colloids

09
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Which of the
leavening agent ?
(1) Salt

(2) Baking powder
(3) Sugar

(4) Sodium Benzoate

following 18 a

Which of the following is an
antinutritional factor present in
soyabean which interferes with
protein digestion ?

(1) Trypsin inhibitor

(2) Hemagglutinin

(3) Avidin

(4) Aflatoxin

Which of the following 1is an
adulterant mixed with edible
mustard oil ?

(1) Mineral oil

(2) Argemone seed oil

(3) Colour

(4) Palm o1l

Which of the following is not an
example of adulteration in food ?
(1) Addition of dried papaya
seeds in black pepper seeds.
Removal of fat from milk.
Addition of baking powder in
cake mixture.

Mixing of chicory powder in
coffee powder.

@
3

4

Which of the following is the logo

used for vegetarian products as per

the FSSR (P & L) Regulation, 2011 ?

(1) Red square having red dot
1nside.

(2) Red triangle having red dot
inside.

(3) Green triangle having a
green circle outline.

(4) Green outlined square having
a green dot inside.
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